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Mental Ability Test
Max Marks : 100

INSTRUCTIONS

Read the following isstroctions corefully before
answering the Cuesticns—

1. There are 100 questions in this Booklet and all are
compulsory.

Answers are to be given on a separate answer sheet
{OMR).

3. All particulars on answer sheet (OMR) have w be
filled with Blue/ Black ball point pen only,

4. Write vour 11 digits Roll Number on the Question
Booklet and Answer sheet (OMR) as given in your
admission ¢ard in the prescribed place given on
the question book let and answer sheet

3. Fill Question Booklet number careflully on OMR
sheeet,

6. Darken the circle for the correct alternative on the
answer sheet against corresponding question
numbers as :

® @ O O

7. IFmore than one answer s marked for any question
on OMR sheel anawer will not be checked.

B. Ifvou do not know the answer of a question, do
not waste time on it and pass on Lo the next question.
If tirme permits try 10 attemp i,

9. Extra 30 minute time may be piven fo vismally
impaired candidates,

10, Use of calculators, log tables or mobile phones etc,
is strictly prolibited in the examination room.

11. Rough work can be done only on the page given
for it in the Question Booklet,

12. Please return the Answer sheet (OMR) to the
invigilator. You are allowed to carry Question
Booklet and the carbon copy of answer sheet
(OMR) with vou.

Time 120 Minutes

[ ]

Please turn over the page and start your work.
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fador (1-10) « Frefetias usi o aueiEs
fare (: ) &ais 0 = &t yredy Nel/ et

wEY il o e T ) EE W
fags (:) & =ifgd &7 & FiAr
yr=t)/ arerTi st = sEtaar o off &, Faed
A o & o gy el § 4 T
A AT |

1. 64:100:16:7
(A) 25
ke
(C} 50
(D) 55

2. ADBC:EHFG :: ILJK:?
[Aﬁipmu
(B) RTZV
(C) RTVZ
(D) TVXZ

Directions (1-10) : In the following questions
there is a relationship between the two
words/letters/numbers and figures given to
the left of the proportionality {: :) sign. The
same relationship exists between the words/
letters/numbers/ figures given to the right of
the sign (: :), of which one is missing. Find the
missing one from the given alternatives.

1. 64:100::16:7
(A) 25
(8136
[C) 50
(D) 55

2, ADBC:EHFG :: ILJK : ?
{&VN{FND
(B} RTZV
(C) RTVZ
(D) TVXZ

3.  Bihu: Assam:: Garba:?
{A) Bengal
(8} Bujrat
(C] Bihar

{D} Punjab
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4. 85:40::77:7
(a) 14
(B)"49
C) 48
{D) 50
5. MRPL : OTRN :: ? : EJID
(A) CFHB
(B) GIKF
() CHGB
(D) CHFB
6.
?
3= 1 &
. + | % |
Bl || B
(A) (®) () {B)>('
-
&) o 51 <
: G ‘ . FL ? .‘ ﬂ
[=]] O [e)
NG &
@ @
2 &
W @) (c) (o)

4. 85:40::77:7
(A) 14
/49
(© 48
(D) 50
5. MRPL: OTRN:: ?: END
(A)  CFHB
(B)  GIKF
:(;)[ CHGB
(D) CHFB
6.
-:I-D!
:JE‘E Am | % | ?
3] 3| €]
CREG T R
7.
@ i ¢ 1<
B | @ EJ eslbs D
[2] Q.
B & |E1
@ e @ &
=] o) B ©
W  ® ©

XMAT 2019



T - M| P
8 ;:Iz KM 1|5 ? |
=|a s|o zla | | =T
:):.1- f‘: -1 ] e
w e © @
9. BDAC : FHEG :: NPMO : ?
(A) ROTS
(B) QTRS
(C} TRQS
(n)-RTas
10. F: 236 = L:?
{.B.}/ﬁ'lﬁ (B) 1700
{C) 1600 (D) 1723

fordor (11-20)- Frerafas vt # =/

11.

HT/ ATHTA W gEen S A
fepaft 7 wr amenfi| ¥ W W@ W

wwwet fau g faweat F & o=
/A |

ST 39, UV43, WX47, ?
(B) ¥zZs52

(D) YX50

(A) YZ47

{c;/ ¥z51

T |

¥|=Z

10.

;'H-J =l z|d
——1—15 | oa ||

(Al (Bl iC) (D)

BDAC: FHEG:: NPMO: ?
[A] ROTS
(B) QTRS
(C) TRQS
(D} RTQS

F: 216 = L: ?
(a) 1728 (B) 1700

(C] 1600 (D) 1723

Directions (11-20) : In the following questions

11.

numbers [/ letters/ figures are arranged
on the basis of some logic. Find out the
logic and select the correct answer and
fill in the missing term/figure from the
Biven alternatives.

ST 39, UVa3, Wxa7,?
(&) YZa7 (B)¥Z52
(C} ¥Z51 {D)¥X50
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12. aaltasa’ asaa basaas b 12. aa__aaa__aaaa__aasa_b

(A)] baaa (B} bba,a (a) baaa (B) bb,a,a

(C} b,b,b,b (0yb,b,b,a (C) bbbb (D) b,b,b,a
13.  ABILITY, BILITY, BILIT, ? 13.  ABILITY, BILITY, BILIT, ?

(A)  BAILT (B ILLIT (A) BAILT (B) 1T

(@ ILT D) LITY (€ wr (D) UTY
14, 14

%] |
L

21711 BI[E B
(e BRI

(B) D) (A) (B) (D}
at -3 N
15. 180,179,171, 144, ? 15. 180, 179, 171, 144, ?
(a) 70 B) 72 (A) 70 B 72
€} 64 m‘/ 80 C) &4 (D) 80
16. 16,
Alo Tl glo bl Al | [ 11A olo
Tlo | | oo E‘r g ‘T‘L::a oo | 1AM ?
ol1 AlD i Fa OO Ol1 AlO LA olo
O ‘ | E‘iID AT OlA Lo Ol | AlT
Yy (8) () (D] (A) (B) (c) (D)
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17.

18.

15.

20.

[

LA T Yy
3,15,35,7,99,143

(A) B9
M 63
cy 77
(b) 81

X 78, T92, P 106, ?

(A% L 120
8] K120
(B M 120
D) L118

B i LR
7,12, 22, 42, 82, ?
(a) 143

|8 173
" 162
D) 183
XWA,VTCSPFROKL?
(A) IDN
& 1€
© IDP
@ PSU

17.

18.

20.

3, 15, 35, 7,99, 143
(A) 69

(B) 63

i 77

(o) 81
X78,T92,P106,?
(A) L1120

() K120

(€ M120

(D) L118

7,12, 22, 42, 82,7

(A) 143
(B) 173
) 182
(D) 183

XWAVTCSPFROK)?
(Al  JON

(8 IEO
(C) JOP
(D) PSU
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FEw (21-27) - Frsfafieas i F =

21.

22.

24.

| _.'1.

g/ s
it

(A) AGHB
(B) ELF

{E}"iﬁzﬂ
(D) CKLD

(A) F0
(B) =T
(C)
(D) =TEA

(A) TR
(8) Uf|
(c) TE=

4t § | e ae

o) FE

s

(a) 121
(B) 145
(C) 153
(D) 177

'L, I+

Directions (21-27) tInthe following questions

21.

22.

odd one out.
(A)  AGHB
(8] EUF
(C] ZAZB
(D}  CKLD
A} Gald
B)  Silver
{C) Copper
:ﬂ}’fcarhun '

(A) Moscow

(BY  Paris

{C)  Athens

eyt

(&) 1
(8) 145

e
[ im

gl
6 153 @17

o 177 e3>

(#3]

&4

four items/ffigures are given. Find the

XMAT 2019



o H | 2aal22 i |24 5290 | looolB8 | [.aal32] | IN|2E

=5 f{jﬁﬂ? TEI I I !|T *&| O 25. 50| & aal 1 o B g R

T RN S a (@) © o
26. [(A) 120 26. (A} 120

(B}~ 257 (8) 257

) 224 © 224

D) 168 (D) 168
27. (A) S 27. (A} Veena

(B) faan (B)  Sitar

@ = [Gj_,/arum |

(o) TR (D)  Guitar

fFordor wow (28-32) . o s & e Directions (28-32) : Study the fn!lnwlnl
T VAT &1 30T aiau- diagram and answer the questions.

farun {_ Pamsiy {_.
SidsrdE biwrban
[ =frn =) (A =)
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28,

29,

30,

frer & & = & o0 W= A
AT TR 7

(4} egh

(B) agh

&) bge

(D) aegh
feddmeRaafm T arar
Wt § ar fer somardt fe &
AiEe e TH & 7

(4 a b d

(B) @& eh

€ aegh

D) a deh

Forer o & =i & TR oufem i wfEen
T # S T seardt oft #7

(A) a.h

8) be

(€} b

() bh

28,

29,

ao,

Which of the following employees are
not E].Islnmsmen?

!N/ e Eh
(B] 3,6 h
C}] b,ge

D) a,e.gh

Which of the following persons are
either employees or businessmen but
not female members?

(A} a,b,d
(B &,eh
€} agh
[Dﬂ:. a;d, e, h

Whe among the following persons are
female members as well as

businessmen?

(Al a/h
B} b.g
ﬂﬁ)/ | b, ¢
(D) b.h

X MAT2019



31.

32,

33,

fae # A wE o T S A
AT TS & 3§ et ?

(A} ‘b, d.g
(Bf a,dh
{Ck ¢d
(D) b.c

o 1 § i o i ofeen wEm E
S AT a3 S w7

A g

(B b,c.ig
€ byic
o) i

sy 3 Fapedt. Efi oo = s aww
¥\ Ay A gt 3T WA g e
2 Fomelr, et i) = s i AT AT
T 3T 3 fomrdlt 2o & &g @i 9T
e T T S A 6137 o e
femEam TR E?

(A) T
(B) I
(c) =ftam
(D) oA

3%,

32,

33,

11

who among the following are

businessmen but are neither post
graduates nor employees?

(A b,dg
(B} adh
& <d

(D) b,c

Who among the following female
members are neither businessmen
nor employees?

(A} i.g
(B} brcig
{C) b,ic

| i

Ashawalks 3 km. southward and then
turns right and walks 2 km. She again
turns right and walks 3 km. and turns
towards her left and starts walking
straight. In which direction is she
walking now?

(A)  East

(B)  North

(€) South _F{|| \.Jﬂ
[Eu/ West ]

X MAT 2019



34,

35,

36,

Teredt =gz wima & 4% ‘THEN' %1 'RLBS'
feovar e &t 59w waT 6 “casE’

=t fopm wenrr foran w2
(A}  PAEP
(B)  AEPI
(C)  EPAP
(D) APEP

wrfiy =1 de g faym &t siw & 9w

100° gfgromrad fowm & T+t &,
ARSI =Y 145° ATaTa fovm o gt
T s e e frm fewm = aim &2
(A) W=

B W@

©

(D) =fam ofy=m

wfe frwdt widfaw aard ‘Go' =T

"FHNP e o smar & ot =6l s
T 'SUN T = e s ?

(A)  RTTOMY

(B] 'RTTOVM

[C)  RTTVOM

(D)  RTTVMO

12

34,

a9.

Ifin a certain code language 'THEN' Is
written as 'RLBS' , then in that code
language, how will 'CASE’ be written
as?

(&)  PAEP

(8)/ AEP

(C}) EPAP

(D)  APEP

Surbhi is facing east. She turns 100%in
the clockwise direction and then 145°
in the anti clockwise direction. Which
direction is she facing now?

(&)  West
fﬂ}/ North East
(C) East f

(D)  SouthWest

If in a certain code language 'GO’' is
written as ‘FHNP' then how will 'SUN'
be written in that language?

(A)  RTTOMY
(B}  RTTOVM
[C) RTTVOM
(B} RTTVMO

X MAT 2019



Fdr (w 37-38) i Tt wifees e

- 3

38,

-

a) 'pitdarna’hi I 'you are good'.

b} 'dar tok pa' = amd ¥ 'good and
bad'.

¢ 'tim na tok' T 349 ¥ ‘they are
bad".

T T H ' they' Y153 =T 24T ATArd

T

(A} na

(B} tok

(C} tim

(B) pit

‘bad' TR H AT E -
(A) na

(B} tok

Q) dar

(D) tim

afy fpedt =z v F, 157 wad ¥
'Mother always lovable’, "619' &7 374
% 'Always happy future' 79T '952° =T
314 & 'Mother very happy'. F8T HZ
ATaT F future' FTHZ FATE?

A} S
{z]] G
L . |

0y FwEE T E

Directions [Q No. 37-38 ) In a certain code

37.

38.

39,

13

language-

a) 'pitdarna' means' you are good'.

bl 'dartok pa' means 'good and
bad'.

c] 'tim uaéi;' means 'they are
bad".

In that language which word stands

for 'they'?

(A} na

(B) tok
{G;/ tim
(D) pit

The word 'bad’, stands for-

(&) na

{H/" tok
(C) dar
(D) tim

Inacertain code language '157' means
'Mother always lovable' , '619' means
'Always happy future' and '952' means
'Mother very happy . In the same code
language, what is the code for the

word 'future'?

a) 9
(B~ 6
(C) 1

(D)  None ofthe above
X MAT 2019



80. ®raeh = e O e, ' oE Aot A1
TEAe | T T8 & 6y o @ we
CAR CAk R Rt PR &l TR
A Wi W W T g, w8
form v w7

41,

(A)
(B)
(€)
(D)

ke
Iz

LRI
Siran [ "Bl

e T = Ul AR & Y
T afaad o ord v waw fea
HATTE?

(4]
(B)
(€)
(D)

HTeHER
AR
TFAR
¥wER

X My AS a=a T Afmr T xar
R Y, AT HETE § 1 YT AH =
T g7

(A)
(e)
{c)
(D)

¥4 43

40,

41.

14

Deepak said to Nitin, " that boy playing
with the football is the younger of two
brothers of the daughter of my father's
wife." How is the boy playing football
related to Deepak?

(A) Son

{ E/Brnther
(C) Cousin

(D) Brotherinlaw

Iif January 1 is a Friday, then what Is the
first day of the month of Marchin a leap
year?

(A} Tuesday

(B) Wednesday H#" 2
"I'. w

(C) Thursday G“'! 4 :

(D) Friday ¥

. Xand Y are children of A. A is the father

of Xbut Y is not the son of A. What is the
relation of Y with A ?

(A) Sister

{B) Brother

( Daughter
(D) Son

X MAT 2019



43, T UL @S SEH! i AT S A 43, Pointing to a man on the stage, Rashi said,

T Tfor 3 =, Aw ut ofa =t o "He is the brother of the daughter of the
ALt T B I e = e wife of my husband." How is the man on
d T T E? the stage related to Rashi?

(a) == !a.J//Snn

(8) i (B} Husband

(c) e (C} Brotherin law

(D)  wiEATS (0) Nephew

frder (W, H.44-48)- afe faed ador =1 xy Directions (Q. No. 44 to 48)- If a mirror is
wr feafar % e mar § o Frefatas o placed at XY position then which of the

srpfaat o 3 = o arsgfe vy sy w answer figure is exactly a mirror image of the

B yiates g 7 problem figure?
44, WY A 44, Problem figure
X
A 1
a| &
Answer figure
- S
| || |oh)
w ® © o AT - R

15 X MAT 2019




[RETRE

0 =

d B S
g &£
7

(A)

X
A B
—
Answer figure
ol [ — X X
AB|l VB A B v B
X | X * -
W o @ D
46. Problem figure

L]
il

L s
Answer figure
5 4| (@ 4| |+ @ [+ ©
O l O s s 0O ; ®|
(A) (B) () (oy/

47. Problem figure

Answer figure Y
aps 6 4 2 a ks Y
2 £ 5 .3 g, €] |8, E
T 7 A1 14 b s

(A) (B) c (D)

X MAT 2019




a8, Tt smegta o wivTaE gm-
WeS AT

i ¥
e ek
FH K § B 5 A
AN AL/

(A) (B] (<) (D)

49, it @l aae i fau i |
i Tfew &1 = o sisniora
weteR @ W wetes =f-
2*4*3%4*9
(A) +-=+
e
S
D) x-+=

s0. wiEzEwtark '+ @, yEwiwE +
F, XTIHAE « AT WA &
' - ar a FPrefEfia TR & A
FE?
-3¥Y3Z 3X3W3
a2 (B) 3
© 4 D) 5

48. The water Image of the following figure
will be-

Problem figure

AL

%

{e]

Answer figure

[.j. f.-*h . Ci [+ /Z‘

b’ - ghxh LiiL
&

(B)
49, Choosethe correct option so as to balance
the equation when symbaol is replaced by

arithmetic symbols?
2*4%3%°4%9 04
R e
(B) . 4 x=- A
C) Lo
O ek 14 R =3

50. fZstandsfor'+', ¥ stands for'+', X stands
far '%' and W stands for '-' then what Is

the value of the given egquation?

- T - it
-3¥3Z 3X3W3
(A} 2

© 4

(B) 3
(oYs

1w

X MAT 2019




51, I ‘when T 319 X' %1 ‘you' FT 394 51. If 'when' means 'K', 'you' means '+,

‘2% ‘come' T I - ST will T 'come' means '-' and 'will' means '+' then
wid ' + ' T Pt w1 the value of the given equation will
I B - be- oL +6-0
8 when 12 will 16 you 2 come 10=7 8 when 12 w‘ﬁln 161,1';-'.! 2 tn-;'n-e 10 =7
(A} 12 {B) 45 (&) 112 (B} 45
© 94 (D) 9 ()94 [©) 96
52, afEsle=93fws3a-97a716=7 52. If526 =9 and 834 =9, then 716 =?
(4) 20 (A) 20
B 15 (8) 15
b 92 el

() 12 )12

53, W 3 Tﬁ'ﬂﬁ AR AT 53. Present age of Anupam and Raju are in

AT 5:4 ¥ 3w H 3 =d ayEm the ratio of 5:4 respectively. After 3 years
FAET IR T AR 11:9 W T from today the ratio of their ages will
=t Fdue 2 fea 7 become 11:9 respectively. What is Raju's
W) 247 present age?

o Wy Saton

€} 40 (B) 27 Years Bn+3 .l
o) semd (C) 40 Years U+ 3 2

WEa+217= M

(D} 36 Years 313

w= b

18 X MAT 2019




FyoMNMHAE
54, WfE 'MONKEY' 9755 & &7 & | 54. How many letters are there in the word

BUTHTET S TEE w0 T FIEr W i 'MIONKEY' which remain in the same
At i fame v B frenT vem e | position if the letters are arranged in
e ¢ descending order alphabetically 7

(A) (A) None

(B) uH - | (B) One

i = (& Two

(D) & (D) Three

s5. wufzfEdimmaramai ffA9ERERE | 55, If the seventh day of a month is three

i fa et & AT 50 e = 19 of | days earlier than Friday, then what day
fafa = =7 = e g ? . will it be on the nineteenth day of that
(a) TFEER month?
(8] TEER :Al/':-:fundw
(D) IFER (C) Wednesday
(D)  Friday
56, afg 27 Hrel 1995 S WIREN 91 A7 1 56. If 27 March, 1995 was a Monday, then
FAET 1994 T WA W1 i A (5T what day of the week was 1 November, |
o? 19947 ™
-"L
(o)  TEER (A} Sunday
N
() HIHETL (B) Monday ﬂuﬁk 1'\/&
(C) TEER (0 Tuesday 1
(D) H¥SR (Y wednesday

13 XMAT 2019




s7.

S8,

fom o F TveE =g 180° WY
&l & 9§ T ° e e ug
femm stgr A =i ?

18°
(B &
e ¢
D) ¥

(Al

otz fapeft o 25 39T o FEiaan
% Al 39 W HEAT e g ?

(A 3
o4
| T~
D) &

<y it g e s ¥ 0 Pt 6
s S A o Ao e v de
et i famo deEn §7

3625632627646586764268

(A) 2
(B} 4
€ 3
o 1

57.

20

How many degrees does the minute hand
cover in the same time in which the
second hand covers 180°7

(4) 18°
(8) &
(€) 10°
Dy 3

. Ifin & given year, the 25" August falls on

Thursday then the number of Meondays
in that month will be?

(a) 3
(B) 4

s

(D) &

In the given number series, how many
6 are there which are preceded by odd
number and followed by even number.

36256326276465867643268

(A) 2
fB‘F./{:#
(€Y 3
(D) 1

X MAT 2019



T com—— e L ==

S —

i (ud. EBHL‘JJﬁIﬁﬁH\'ﬁ‘Eﬂmﬂ
g eegdes witay st faw o wet
o1 A G-

EGGBDMANKHZACZSV3IF1ILOQSPR

60, Tt &t T sfmen § g AN 3H
a1 fean wA (e wieRen ER AT
ST BU) F I 1 ST/ ST Een &
St T E T 2 (AR W R
3R/ ST B ?

(A} v (8} 1
@ Q o) A

61, Ofe THEw M T LTS & e, St
w1 30 A i femar wman & et s
aragil/ SRt o1 W TE T AR
At EI AT 3w gt S & S B
178 e S ST A e S
wm?

(A} A (8) C
(Cl. & (D) 5

62, -l gy TrElt W EnEl QT WOn |
Bt 1 T e et ¥ e

it & w9 e g,
T -

(A} Tt | R

(B) HwE A BEl

(c)  aun B wE=

(o) e d I

Directions (Q. No, 60 to 61) Study the
following arrangement carefully and answer
the questions given below -

E6GBDMANKHZACZSY3E1JLOQSPR

60. If in the given series every alternate
letter/ number is dropped (dropping
starts from E) then which letter/number
will be the second to the left of the tenth
letter/ number from the left end?

@ v 6

€ Q oy A

61. Ifthe letters / digits only from Mto Lare
written in reverse order and other letters
J numbers are kept unaltered, then which
letter will be third to the right of the 17
letter / number from the right end?

(Al A (8 C

h‘_l}/z/ oy 5

P > &> A= = R
62. If Shaloo is taller than Rakhi but shorter
than Prerna. Rakhi is as tall as Meghna
but taller than Komal , then Meghna is-

() Shorter than Rakhi

[B) Shorterthan Komal

(C) Taller than Prerna
EDA:urter than Shaloo
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ooy - e & e et = 0 sl a6

i
i)

iii}

63.

65,

W 65 7% & 07 SifAn-

A B, CD,EF 3N GHT F 3N EE w1

TR, e i
F o] ¥H G # 2t S 530
B, F 1 TEIHT ¥ T E 1 781 |

EGATdtsm g mmwaa g

CHFI TEHE |
D, E ST A We & &

G Tt 3T AT w7
(&) D
(B) E
€} C
(D} T WE W HEA

G % =dr AT wmA A TP
YR

8] C

€ 8

(0) T99 | W T

Fo mETit F-FT 7

(A} EFRC (B) F3f g
€ asme (D) € 37 B

Directions: Read the following information
carefully and answer the questions (63-65)
Eiven below-

A, B,C D, E FandG are sitting in a circle
facing towards the centre.

i) Fis2™ tothe right of G,
i} B is neighbour of F but not of E.

iii) Eis 4™ to the right of G and E is the
neighbour of C.

iv] Dis sitting between E and A.
63. Who is fourth to the left of G?
(Al D
[B] E

@/c

(D} Cannot be determined

64. Whniissiﬂingtn the left of G?
A
(B) €
Ic) B

{0} MNone of these

65. Who are the neighbours of F?
(A) EandC (B} FandB
(€} AandB (BCand B

2
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e

66, e AT U W URTEI E, A
TWUSHEIC,BHAAEIAB®
A %) D, c% = ¥ = T

T mma a7
(a) A (8) B
i) ¢ (0} D

T : (9. 9, 67-74) Tl smgiaal &

qreT T W YA 26 A
ST To uveEras () e s
T s At w7
67. 2 |14 |21 |2
3 [(:2 | 8|35 |
4 28 | 35 2
(A) 35
(B) 42
Lo
by =
88, L & | fa
BN R
.I 153 | 120
&y 32
(B) 45
) . 16
o) 48

66. Five books are lyingina pile. Eislyingon
A. Cis lying under B. A is lying above B.
D is lying under C. Which book is lying at
the bottom of the pile?

(Al A
(C) C

(B)

B

(@ D

Directions: (Q. 67 to 74 )Study the pattern of

numbers/figures in the matrix and find

_out the missing figure,/number which will
replace the question mark (?).

67.

2 14 2 23
3 | |3 |
} 4 |28 |35 |2
) 35
) 42
(C) 21
o) 28
s ¢
68, 4 ] 2 Ry .
- Tt
= | @8 ot
1% 120 ¢

(8) 45
o R
(D) 48

23
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3 T ol 5
69. 3|15 |5 5.5 2l 8 |s
3 3 3
(Al 9 (B 3
c) & B 2
.5 |as g |22
- ) [ 5
ao]a2s 15|48
(A) 5 (B) &
i 12 (o) @
2 1 3
7. 13 5@: 4@1
4 3 3
(A) 64 (B} 39
[ 24 (0) 26
72, W g
[t
m | ? n
)
i __,.-"#. —
"- o
IV TRt

{D)

8 14 5
8% als]s slw|5 2] |5
3 3 3
(a) 9 (B 3
€ & o 2
5 |45 8 |22
70, i
40|25 1a|4s
(A} 5 ren/ é
() 12 D) o
2 1 2
7. 13 5@2 4@1
4 3 3
(&) &4 (B) 39
iy 24 D) 26
72. Problem figure
T
] "
= 7|
';_-‘
l c:/) > =0
Answer fijgure  ©
(A) (B) {C oy
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A4

Ja

()

(D]

73. Problem figure

T

X
A7 %
> | Y

ENIAYAIEN
(A) (G( (c) (D)
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Frdyr(w. /. 75 | 79)&t 7§ wET T e

73,

76,

WA & IO A

:;aﬁ'ﬂsrﬁmgtﬁmam:mﬂm

A 3l p e fagm sin difoent § ar=
|

E.D afr ¢ vifewt i sfem § o=
|

c 3 a Wi o ofm § o=

4

p ¥ e 3frem s g | sr=p R
vitfernt, gl afte oo o =i s
¥

(A} A

(8 B

© o

D) E

i witfaent, s 3fr niora o aremr
¥ v e farg o e A §7
(A) A

(B) B

1 TR

) D

Directions (Q. No 75 to 79) : Study the

75

76.

following infermation carefully and
answer the given questions.

i)} B and E are good in Dramatics and
Computer Science.

i) AandBare goodin Computer Science
and Physics.

fii} A, D and C are good In Physics and
History.

iv)] C and A are good in Physics and
Mathematics.

¥} D and E are good in Histary and

Ciramatics.

. Whe Is good in Physics, History and
Dramatics?

(a) A
(B) B

(/0

D) E

Who is good in Physics, History and
Mathematics but not in Computer
Science?

(A) A
(B) B
ey ¢

(D) D
X MAT 2019



78,

79,

s g fasm, gfaem i g
LT

(A) A
(8} B
(C) C
o) E

S Them, Jifaet, Foger faams

3y i & arsr ¥ 7
(A] A
(B] B
(i€} C
@ D

=i wifeent, grar, 3 wwge fagm
o a7

(A) A
B) B
{cf B
(D) E

7.

78.

79.

27

Who is good in Computer Science , History
and Dramatics?

(Al A
(B) B

(c C

o

Wha is good in History, Physics, Computer
Science and Mathematics?

(aLA
(B) B

(€} C
(D] D

Whao is good in Physics , Dramatics and
Computer Science?

(A) A
8B
€} D
(D} E

X MAT 2019



o (w. €. 80 | 84 ) wy anspa fopm ==
e © fodt g8 &

80, WVH 3TH

- ‘W Eu Ik
i

(D)

(A (B)

81, WY TR

(Al (B) (c) (D)

Directions (Q. No.80 - 84 ) Find the answer
figure in which the problem figure is
hidden.

80. Problem figure

13
= [

w o’ © (0}

81. Problem figure

XMAT 2019




B2, UYT 3mETH
TAT ATHIA
() (B (C) (D)
§3. U T
:ff'_
I AT
|
M
i f
() (B} () (D)
84. VYT Al
D X
— A
Eos o

82. Problem figure

Answer figure

X

W ® e

83. Problem figure

Answer figure

W%
(A) (8] @ (D)

'

05
=i

B (3]
NJ/ o & Hh'l.li'l:'liﬂlﬂ




frdwr : (w. . 85-86) Frer 3w ot o

o sweglerar s Wi i fymme v wme
W T, 99 w0 W = & wE we

i

o 1P © -
]

o g o5

(A) (B) (C) D)

Directions (Q. No. B5-B6) Choose the figure
from the given answer figures which will be
formed by folding, punching and opening the

page.

=

W (8 ©

O
O
o0

86. Problem figure

D

(D)
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P : (w, W 87-88) fau g wom F ww
et yreg % wanT F sverafem ww §
o T B MU W VIeE R wEaie
= fam o el H A S v W R
T safiem fapn o e & WA A aren
T

B7. ETGNDLII
(A}  INTELLIGENT
(8)  DIFFICULT
(C)  LABORIOUS

(D) QUICK

BB. TRPETY

(A)  CHARMING
(8)  FRAIL
(C)  SINCERE

(D) AUDACIOUS

Directions (Q. No. 87-88) In the given
question, jumbled letters of a meaningful
word are given. You have to arrange these
letters and select the word from the given
alternatives which is almost similar in meaning
to the rearranged word.

(82! ETGNDLII FTGENT

g el

(A)  INTELLIGENT :
EAnEbrE™
(8)  DIFFICULT OLL e o7

I}~ LABORIOUS

o auick

88, TRPETY

Ml/ CHARMING

B}  FRAIL
[C]  SINCERE

(D)  AUDACIOUS

i

X MAT 2019




go. forw v o & was wwTe snEn & WAl

90,

i T e |

(&) 18

By 27

Ic)y 20

o) 30
Frenitarar e o fepaet oy oy =nf
1]

(a) 28 Faym 3=
B 24 e, s =
€ 28 frq, s =
o) 24 Brm, 3=

89. Count the number of similar sized cubes
in the given figure.

&'
el |

L.

(a) 18 Rl
J{-.?x
Bl 27
(8] ,{,
(C} 20
( 30

90. Count the number of triangles and
squares in the given figure.

(A) 2Btriangles, 3 Squares
(B} 24triangles, 5 Squares

P
(CF" 28 triangles, 5 Squares
(D) 24triangles, 3 Squares
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on.

92,

Fererfefias wosr & wiar v fRw e i

ofg F g1y o FTHT SUiameET &
wad womg TP Rt wE A
vTes e | T 7

Hobby, Holiday, Hoarse, Hollow, Hobble
(A]  Hoarse

(8) Hobble

(C} Hobby

(D)  Holiday

<& fam 2 TR ) SIS v
w WA H sEftEd Har U W
e & =aw it

1. Selact

. Seldom

3. Send

4. " Selfish

5. seller

A} 1,2:4:5 3
B8 2,1,5;4,3
€ 2,1%4,5,3
B}y Z,5,4,1,3

91. Inthe following question, five words are
given. Which of them will come in the
middle, if all of them are arranged
alphabetically as in adictionary?

Hobby, Holiday, Hoarse, Hollow, Hobble

(A) Hoarse

(B)_%"Habble
(€}~ Hobby

(D) Holiday

92. In the following guestion, arrange the
given words in the sequence in which
they occur in English dictionary and then

thoose the correct option.
1. Select
2. Seldom
3. Send
4. Selfish
5. Seller

(A} 1,2,4,5,3
B ,2,1,5 4,3
( 2,1,4,5,3

(D} a2 Ry 153

33
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93,

94,

95,

fomr iz AT & ekt o wd ST

it = & =0 A wire
(A)  UPIM
{B)  WKLA
(C)  EELSP
(D}  UNR
45 DT i HET H T B i G0
205 &1 T 9 7 OTE A o wEer
et & A 59 BT Aoft e of fim
AT § | 39 O &1 3 | 4 St
£
(&) 257+
B) 267l
) 27+
D) 287
ford i = o faes P 27
Pl
\
(&) 18
(B) 6
€y 12
o) 14

93.

94,

95.

Make a meaningful word from the given

letters and find the Odd one out,
(4)  UPIM
(B)  WKLA Loped
(€} EELSP SeeF P
(D)  UNR
Lo

In a class of 45 students, a boy Is ranked
20", When two new boys joined in, his
rank was dropped by one. What is the
new rank of the boy from the bottom
end?

(A) 25"
w26
g z2m
(D) 28"

How many triangles are there in the given
square?

o
AR
\/
o 1s
(B) 16
c 12
D) 14

X MAT 209



96.

&1 1 st o s wamEar 9ade
&7

Al 4
B) 5
€ 6
@) 8

TR U e w5 e feaferat g
T &1 afE s e w2
Sifeme & A7 0 |1 3 F9A T W

am?
; <
() 1

(B) 3
Q 4
(D)

96. Howmany parallelograms are there in
the following figure?

L
]

A o F
B ,: 5 g
[4) 4
(B) 5
6
(D} 8

97. Two positions of the same dice have
been shown. If number 2 is marked
on the bottom of the dice, which

number will be on the top?

o1

() 3
c 4
@) 5

35
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98. ur=rAE fafrai fEr St & v

9.

: &
LE‘A\

100,

3% faoftm s ar siw &7

sojofao

B &
Qb s
0} 44—

o = et e S d ) s
p & fagfts v W =19 1T e

(A

(B) B
(<)

(0}

A, 8 =fE T efE B, A =t afim =
T AT e T HEAT Y

(a)  afgs o il

(8) i afw W

(€ =i &R A

(D) SiEEHF wE 7w

g9.

100.

Three positions of a dice are given
below. Which number is opposite to
face 37

D B

B 6
® 5
® 4

Four positions of dice are given below.
Which letter will be opposite to D?

‘? |
E o D: B E o
D Ay D

B B
or” A
B c

Ais the sister of B but Bis not the sister
of A. What is the relation between
Aand B?

( Sister and Brother
(B) Brother and Brother
{C)  Sister and Sister

(D)  Noneof the above
X MAT 2019
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A PEFGH I THLY
5?@{3&#’39:.36& b
It
o l‘:. F'EL-
5 u* C- =
e P
# Iﬂ?
= %
9
il [ *,aiq-“-i"'l'
[t a STH
27 a Eesi
‘.;q*@p-rg_.,l + B2 +027
1 NS 20 *6
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e 3
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HET- X 4
£ e alalc[Z[ula[u]e] v i deir 73525
g™ o= 93/ SECOND QUESTION PAPER
Vit wfigwfa oirgmn Scholastic Aptitude Test
ey ;120 fER TOE ¢ 100 | Time: 120 Minutes Max Marks : 100
e INSTRUCTIONS
= Frefofan Frdoi Read the following instructions carefully before
vl _: il b answering the Questions—
i H e - I. There are 100 questions in this Booklet and all are
. TR S 100 v § wdft we st f) compulsary.

2 I U A I A (Sumsn) w o f)

3, IO TS W Odl WEHRIE wae SR 9 G

ez 1WA s w WA &

2. Anpswers are to be given on a separate answer sheet

3. Al particulars have to be filled in answer sheet
(OMR) with Blue/ Black ball point pen oaly,

4. avcaeff S 11 W W SEAE S0 W | 4 Write your |1 digits Roll Number on the Question

e & s &, % R WA g o TR T

(UL YW Fae FElE = W O admission Card,

it
T

shest,

Booklet and Answer sheet (OMR) as given in your

uﬁmmmﬂrmm wamyAt | | 5 Fill Question Booklet number carefully on OMR.
A wiral

6. IO WEE W w0 W WeE & W e
v% T fEEeY & U@ w1 A FE =R
foerm =1 WET 39 UEW )

6. Darken the circle for the correct alternative on the
answer sheet against corresponding question
number a& shown below :

®@ @ © O

@ . @ @ 7. Ifmore than one snswer 15 marked for any question

on OMR sheet answer will not be checked.

7. ol I vEE (Amam ) s am E fw | g If you do not know the answer of a question, do

wF B aE fawen oW o Fm A g A
UL H] qiw A w A

not waste time on it and pass on to the next question,
If time permits try to atlempt it later.

g ufE A M W IR A ae f @ T8 W | 9 Extra 30 minutes time may be given to visually

oA wAE A Fi | T8 99 T W H: 5 6

impaired candidates.

g, mm#mﬁuﬁamﬂaﬁrﬁm 10, Use of calculators, log tables or mobile phones ete,

30 T =1 sifiios =99 sE §

is strictly prohibited in the examination room.

10, mﬂﬁwﬁ.ﬁﬁmimm 11, Rough work can be done only on the page given

#fz & wam w1 sEEa =9

fior it in the Cuestion Booklet.

11. 7% ®F v s ¥ & W gw W w{) 12. Please return the Answer sheet {OMR) to the

invigilator. You are allowed to carry Ouestion

12, e W 4R 3W S 0w w e Iy I Booklet and the carbon copy of Answer sheet
AT == Hﬁﬂi‘n T STt THE {Ei‘ﬂ:ﬂml w | {OMR) With}'ml.

FEA FE AE g R W T |

X SAT 1019

Please turn over the page and start vour worl
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“TRieTEr | oA

(A) WfEs S

(8) & U™

(c) == =i 9
D) =it & fow =

=Jren FErem w1 e w1 -
(a) dreqias! ® T & W foe
(8] = Frem 1 = w1 % faw

(c) et g ToiuEl ) ow i
fam

(D) el = e 2 & feg

‘gt dEn T 20 3R 99 T
|

(&) SHIE

() FEed

(c) &=

(D) AT,

‘TP T W e -

1. 'Kolkhoz' were-

L/{'ﬁj. Collective Farms
(B) War Ships
C) Confiscated land
(D) Cuarters for workers

2. The Nuremberg tribunal was set up to-
(A} prosecute the Bolsheviks
_AB) prosecute Tsar Nicholas Il
(C) prosecute Naziwar criminals

(D) prosecute the Jews.

3. "Dawes Plan" was introduced by-
(A) France
(B] Italy
IC) Russia
4D} USA.

4. Who used to live in 'Ghettos'-
(A) The Nazis
_AB] Thelews
(C) The Landlords
(D) The Workers
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* -t i A fRaR st
(A) o A

(B) EHITEAl A

(€ ==id

(o) T R A

e Tr feoit #1 4 s "o wim
e &7 A i 1wl -gEm
ﬁﬁ'ﬂt“'

(a) o
(B) e
() HetrTE
() feeem

‘g EE @ St g e
TR 01—

(a) HfSE

() FrramESt

() &

(D) TEme TS 1)

5. Whofollowed the' Scorched Earth policy'-

(&) The lapanese
(B) TheFrench

(C) The Dutch

.AD) TheKalangs

Who once remarked, " When France
sneezes, the rest of Europe catches

cold."

(a) Bismark

Jt’é} Napoleon

(C) Metternich

(D) Hitler

7. Who led the famous 'Expedition of the

Thousand' -

I 220
./ (A] Mazzini

(B) Garibaldi
(C) Cavour

(D} Victor Emmanuel il
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10.

ey fam o &t wew # e
ey sifiren fm-

(A) ETEL T AEE

(8) FEYUZR

() TfE= FeaY 74

] uﬁ‘\am-

WA AT F1 wies A= e amn
-

(A) BRI T9 R
(B) Ta= MY T
(C) @eHis e 2R
(D} = Iy =mi

W2 g foaa 5@ & o -
() =LA TE A

(8) FUAS. @ THES

(€ sunoE ue fava ¥
(D) E=.UAE. UE T

l

8, Who was instrumental in setting up of
‘Awadh Kisan Sabha'-

ri-_-'
¢ AA) Jawahar Lal Nehru
(B) DeenBandhuAndrews
(C) Govind Ballabh Pant

(D) Rajendra Prasad

9. Who painted the famous painting of

Bharat Mata -

(A} Dwarka Nath Tagore
_/,i.'ﬂjﬁ Ravindra Nath Tagore

{C) AbanindraNath Tagore

(D) Raja RaviVerma

10. The Bretton Woods twins are called-
_AA) The WTO and The UNESCD
(B} TheUNO and The UNICEF
(C) ThelMFand The World Bank

" (D) TheWHO and The UNICEF

XSAT 2019




1.

12.

e A F1 T B § gEfew Fifee am

ot femmeg -
A "B

1) & (a) % lemsra S
T

i) Ty (b) TfEA

i) = (¢) = T Bl

) Tz fe aem (d) ®%fafEstss
w4

(1) () () (v}

(A) d c b a

(B) b a d c

(C) c d a b

(o) d a c b

W A F T B § e am a9d

faemea -

A ™Mb
) ST (a) =W
n) s (b) TR WA
iy Rt () T9EH
V) =E (d) T[T H

i {1} (i) (iv)

(A) c b d a
(B) b a d c
{C) € a d b
(D) d c b a

11. Match the Column A with Column B and

12,

choose the correct option-
Column A Column B
) Rousseau ., Two Treatises of
Government

I} Montesquieu'w-(b) Marseillaise

) Locke The Social
Contract
I¥) RogetdeL'lsle The Spirit of the
Laws
{1} (n} [y v
(&) d c b a
(8) b a d €
" 1C) c d a b
'L{ Em"’ “ % > T
Match the Column A with Column B and
choose the correct option-
Calumn A Column B

||  Zollverein (a) Dymasty
0 G-erman'falii(-b} Secret Society
) Carbonari (¢} Allegory

A .
IV} Bourbon {d) Customs Unian

(1 () iy (v)

L;kr £ b d a

(B) b a d c
(C) c F d b
D) d c b a

XSATI019



13

14.

15.

W & e g g =t e
F T B-

(A)  WTE O AR

(B) T

€ Tl

(D)  gHrEHS

fretafes 5 & 59 W 39 T3 T
T 9w R W A g
A

(B) HHM

[ ®=

(D)

AETEE O B

() A H

(B) S A

c fwed

(o) feeEm o

13. Whe appoints Chief Election

Commissioner of India—
(A) The Chief lustice of India
*(B) The Governor

l/QC)/ The President

(D) The Prime Minister

14. Which Country is not a permanent

member of the UN Security Council-
(A}~ China
”-
(B) Japan
(C) Russia

(D) France

15. Community Government isin—
(A) India I
AB) Sri Lanka
(C) Britain

(D) Belgium
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16.

W A W B wI gAfEE w1 TR
e 914 -

= A T B
|) AAEET e (a) HfEra
i) W (b) =
jii ) BT AR (c) UM
v )} =i A8 & 52 (d) T

e

[ (W ) ()
TV b 3
o . 8 d c
el a d
(D) d a b c

16. Match the Column A with Column B and

choose the correct option-

Column A Column B

a) Bolivia

I} Seven Party Alliance
N} Water War £ ) Kenya
) The Green Belt / c) Indonesia

Movement

I¥] Naland, NoVote .  (d) Nepal
(1) (i) iy vy
Ry c d b a
= (B]) b a d c

|
7. wre faa w9 2018 & e wm A | 17, Which team was defeated in semifinal by

Fereree § e 9 5 - . winner of FIFA world cup 2018, France-
| - c _

W s AT croati

(8) FEwE (8) England

[ afEm (C) Belgium

5] =g (D} Russia

8 X SAT 2019




18.

19.

W A S R B %1 ghfem sifeg aa
e fawey g -

= A T B
1) s T (a) G
1) e areE (b} HA
) A G R ey et
V) FEH TR (d) FEER

Mmoo )
(A) d € b a
B s 2 € d
Q) ¢ a d b
o O d c
GETER IR GO (CU AR AT
(A) = € W TeEttas o &

WA g

(B) @nfiie =M@ & AR TS

w1 HE

(c) Tz, TwHiTaE e & W g

(D) TmeeEe, T YR % WE
{|

18, Match the Column 'A' with Column 'B'

and choose the correct option-

Column A Column B
) Augusto Pinochet' -(al Poland il
) LechWalesa * J |b} Ghana

) Aung San Suu Kyi v ‘(c) Chile
i
V) Kwame Nkrumah \{d-} Myanmar ./

{1} L1} I {1 B}

A d - b B
(8) a b c d
\)ﬁ—}/ i C a d b
(D) b a d c

19. One basic principle of democracy Is that -

AAJ People are the source of all political
poOWer.

(B) Religious community is the source of

all political power.
(C) Mation is the source of political power.

(D) Head of the state is the source of

political power.
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20,

21,

UF YFR § ST wET e o
faaim &

(A) TEETE IEE e |
(B) STSTYTHF WG = W
(C) TTORHERSF YIS =

(D) THEEE YET = A

TR w6 2018 § 0w 99g 50 e
Wy § =Y gEF S T -
LI O

(®

(€ wen %

(o) T B

A w12 e S e
(A) TS

(8 SEEE

(€ wHEm

(o) T ferER

20. In a way, the federal form of government
is in contrast to -
(A} Parliamentary form of government
(B) Presidential form of government.

(C) Republican form of government.

(D) Unitary form of government.

-21, Neeraj Chopra has won gold medal In
which event of Asian games 2018-

- (A) Judo
A8)  Wrestling
(C) Javelin Throw

(D) Shot put

22. The highest point of the Eastern Ghat is-
AT Anaimudi
(8) Doddabetta
(C) Mahendragiri

(D) Guru Shikhar
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3.

24.

25.

26.

(A)  SETA
(B) M St

(C) =
(0) EOEE al

= §-

(A} FEH

(8) fr=wamE
g FaUEvE

(D) e

wid & fra oen o 'gw w6 de
g_

(A s

(B)  AFTEUE

[0 =mEd

D) A

qeas UH 1A % W T ae e
AW B A S

(A} FHAMUER 92

(B) HIEER 5

(C) =i=m a2

() %H=gda<

23. World's largest river island 'Majuli' is
located in-

{A) Brahmputra River
ULBf/ Ganga River

(C) Yamuna River

(D) SatlujRiver

24, 'Asiatic Lion' is found in which state of
India-

(A} Assam
(B) WestBengal
(C) - Uttarakhand

A

Gujrat

25. Which state of india does not have 'lhoom
agriculture’ -

(A) Mizoram
(8) MNagaiand
(C) Assam
t!_u}"’ﬁujrat

26. The coast between Mumbai and Goa is

known as-

(A} Coromandel coast
V_[B} Malabar Coast

(C) Konkan Coast

(D) Kannad Coast
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27.

e | | w1 6 TReTH %9 B HE
fawen gFa-

W T

a) WEREE AA (1) IR, E
b) TUigET &5 () SETE, WEE
c) HEA T () =T, A

d) T 51 (iv) =72, T=|mN

(a) (b le) d)

(A) I 1T i I
(B) WY i I I
@ nm | v
@ 1 [ i v
TR | F TR || o e e 5T 9
farmn G-

Y | = ||

a) TTHZ TR (1 et s
b) =94 #@H (1) IWOETE

¢) ANETEEUR () HEY

d) wFE A fTaE (v) TR

(@ (b} () {d)
(&) | i ] v
(B) o ! v 1l
(C) v i (] I
(D) I I | v

27. Match the Column | with Column Il and
choose the correct option-

Calumn | Column Il
a) EvergreenForest (I} Acacia, Palm
b) Deciduous Forest/ () Ebony,
/ Mahogany
¢l ThornForest {ill) Bamboos, Sal
d} Meountain Forest =V} Pine, Deodar

(2] (b) ey (d)

(A) I v n I
B) v m Il |
;ﬁﬁﬂ i i | v
“ D) | n n Iv

28, Match the Column | with Column 1l and

choose the correct option-
Column | Column Il
a) CorbettPark () WestBangal ¥

b} SundarbanPark (i) Uttarakhand(l
¢) Bandhavgarh Park (ll] Assam &
d) Manas Tiger (V) Madhya c

Reserve Pradesh
(a) (b) 3 (d)
{a) [ ] in n
BT < I v I
(C) v i i I
(D) 0 ] I 0
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29.

3.

TN | T || AT 1w Tt

29. Match the Column | with Column Il and

famra gf-

= | T )
(w5 (af)
a) Egl (1) e
b) Ffean (n) it
) FEgE (W) FAYF
d) e (1v) el

fa)  (b) (c} (d)

iA) I Il i v
@ | v 1l
(C) 1l W I ]
(c) v i i I
YW 1 W oA TR St |
fuifim T o &-
(a) 80° 30" YT BM=I
(B) ©0° 7' el Eqr
(C) 23° 30" g FRH
(D) 82° 30" gET B
w2 u feee sisil & wey =t &
(A) 27° - 30° N
(8) 20" -23°N
© 17° - 20's

(o) -~ TS

choose the correct option-

Column | Column |l
(Mine/Field) Minerals
a) Khetri (I} Coal
b} Jharia (0} Copper
c) Kudremukh (1) Mica
d) Koderma {IV) Iron

{al (b) (c} {d)

L/{-A]f_ I i i v
(B) i i v 1]
(C) 1] v I 1]
(D) 4% Il 1] |

30. The Indian standard time is determined
by which longitude-

(A) 80° 30 East longitude
(B} Q"7 East longitude
{C) 23°30 East longitude

VLD)/ 82" 30’ East longitude

¢ 310 Jet stream flows between the latitudes-

‘_Xf’z?ﬂ — 30" N

(B) 20°-23'N

T}Qj"l?"—zl]”!i

(D) 14° -17°S
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32.

33

35.

=t ® | wE WAfea T 8-
(&)  HATENH - O FIHHR
(B) e A - IETE
(c e - falRrEm
(o) T, @ g

frm B | 919 | % s 849
&

(A) =H

(8) ==l fTER
© =

(0) EEFH

syfre seferaen § W # FO R

R o am k-
(A) I
(g) Hin s

(c) =iE uE o = En
(O) SuiEe A | w5 T

32. Which of the following is not correctly
matched-

&1/ Karakoram - Jammu Kashmir
(B) Nanda devi-Uttarakhand
(C) Kanchanjunga - Sikkim
(D) Garo, Khasi - Tripura

33. Which one of the following is formal
sector of credit-

" Bank
(8) Relatives
(C}) Trader
(D) Moneylenders

14. Which one is accepted as a money in
modern economy -

._,iﬂ‘r “Currency
(8) Demand deposits
(C}) Currency and demand deposits
(D} HNoneof the above

35, Making of Sugar from Sugarcane is
associated with-

{A) Primary Sector
1B  Secondary Sector
(C) Tertiary Sector
(D) Allof the above

T @ = Y 8 W e
2
() Wl &
8) foftas &=
() T R
D) . SR T
14
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37.

WTeA T G =IAa8 HHE e 5
ooy HT A &

(A)  FoHE % Wem d T
(B) HET e | TEd
(C) TEE A F AR

D) i ot

fr= A A #19  fwarmemy wafis &
# gwfam 7 &

(n)  EfEt

(B) R

© =TT

0) WA

T sifufem & st v faas
% Favei ¥q i =nfas &3 wfi
o T §-

(a) IR

(8) wrUm

€ =W .

0) 3w d @ wE

' 36. Minimum Support Price is declared by the

Government of India-

t}]" Before the sowing season

(B) Before the harvesting of crop
(C) Afterthe harvestingof crop

(0) Any time

37. Which of the following activity is not

related to the primary sector-
(A) Forestry
(B) Animal Husbandry

(C) Miningand D.uarrving.
g

ﬂ Tourism

38. Under which Act a three tier quasi-ludicial

machinery has been set up for redressal
of consumer disputes-

(A) RTE
L/[,B}" COPRA
() RM

(D) Mone of the above
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39. W 1F T (|| F s wifae g

it fawea =1 999 Fifen-
= | el
a) et gewf= (1) @9 i
fageron Wt Eluites
b) s 3= g (i) T F w=d
fada
¢} F=qu Tre () I7g gREN
d) TS E= (v) g =i
T wAfufEm
@ (b e} ()
(A) I i n v
() I I n v
(C) Y I | I
(D) I I I v
40. H% YA W 9FR 3R FE IEE
%) WA HIEA H1 AT & forg fwn
o -
(a) wErfEEt
{B) ¥
[c &H
(D) i § S

J

1
|

39. Match Column | with Celumn Il and

choose the correct option-
Column | Column Il

a) Revised Public fj,t] Indigent senior

Distribution System  citizen
b) Antyodaya Anna  (ll) Poorest of the
Yojana Poor

c] Annapurna Yojana_ [lll) Priority house
hald

d] Mational Food (V) Backward

Security Act Blocks
fa) (b} (c) (d)
' (a) I 1 I v
AR il " i W
" I I r I
o) W | I I

40. A Payment that a government makes toa
producer to supplement the market price
of a commodity is-

wb‘ﬂ
(B)

(€)
(D)

Subsidy
Shares

Donation

None of the above

16
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41.

42.

43.

4% 5inf - cos@ =0 al
sin' 6+ cos' @ T = B -

3
A 1 ®

{0 (D)

i 3
2 4

ofe A0-1)B8¢2.1) & C(03)
AABC & vid € 73 A 9 @iE ™
TifeaesT = oEETE Wi-

(A) 10
8 - 10
© J5
(D) T & I

i wefrERT
(a—b)x’ +(b—c)x+(c—a)=0F
et T 6 W oo T HA TW-

(A} Ga
(B) —b6a
i) 2a

D) -2a

41. fxinf —cos@ =0 , then the value of
sin' @+ cos' 8 will be -

A 1 ®
4

2 L

© 3 ©) 5

a2.  If 4(0,~1),B(2,1) and C{03) are
the verticesof A ABC then the length
of median drawn from A will be-

L;pr}"’ 10
|8 J10 f&"
€ 5

. (D) Noneof these

43. If the roots of the equation
fa=b)x’+{b=c)x+(c-a)=0
are equal then the valueof b 4+ o will
b

A] 6a
fﬂ-] :ﬁﬂ
m/za

(D) =2a

17
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10 | 300 % == T e s §
5% 4 A fawfam 6 w3 95w
EEGiE
A) 7
B) 73
@ 72
(D) 74

A feEd qpcp IR Y
fagd ._60" 98 AC:BD T
oA Bm-

C
a0¢

(A J3:

B 3.2
© 3:1
D}  3:2

af% cosfa+ f)=0 ™ sinfa- )
1 W O &

(A) cosf
(B) cos2f
Q) sinea
B}  sinlae

45,

ab.

How many numbers lie between 10 fo
300 which when divided by 4 leave a
remainder 3-
(A} N
(B} 73
S e
(D) 74
In the given figure 4RBCD isarhom-
bus in which /¢ = g0 then AC : BD
will be-
b,
If cos{a+ ) =0 ,then sinfa— )

is equal to-

Fa

S s
(B)  cos2f
€} sin
D)  sin2a
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47.

49.

TF AERE 524 0 TF F1 F e

farg 10 & men swet e 6 ®owm oA
w = g ¥-

A) &

B 7

© 8

o 12

st i 4z OP|RS , £OPQ=110"
JN ZORS=130° %, @ LPOR

A §-
R o 5 »
v 110
a

(a) 40
(B) 50°
© &0
oy 7

{125}.%. {31}% = HH E-

s

® 10
IC) 15
(D) 25

I.I
% %
Ve
lql'!f:, - 'L"'T ‘.1‘1
ch L S |
PR Lot ek

i i . |
. I By
L -

P _.-I*'nr.
47. Ina frequency distribution, the Thid value
of a class is 10 and its width is & then the

lower limit of the class will be-
(A) 6
F i oS
At
(€} 8
(D) 12

48. In figure If OP|RS, £OPQ=110" and
ZORS =130" then ZPOR is equal
to-

i
T B o
o L
11 |
a
S,
(A) 40° 7
(8) 50° i
et T o
el 60° g
(D) 70° S T
49, Value of {125]% ! {31}‘} will be-
[A) 5
_(By 10 F
€) 15 e
(D) 25

15
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so. ammfa & = Loqp=40" A |

5.

52.

s ACE w0 ¥

Koo ™\

A B
(A)  50°
)y &
€ e
(o) 70

TR x4t —2x +x+l] N ox—1

B favesm A W f9EE B -
) 2
(B) 1
© o
D) 3

fed m fas ¥ afs PQ|RS
ZMXQ=135" T pfyR=a®
SXMY &1 T -

P R
M
a0°
HH ¥ 5

(a) . 95°

(B) 45

([C)  140°

(D) 85

50. Infigureif #O4B = 40" then ZACE
is equal to-

M so
(B) 408
€ 60
o 70

51. Polynomial ' 4+x'-2x"+x+1 15
divided by x -1, the remainder will be-
AT 2
{B) 1
€ 0
D) 3
52. In the given figure if POIRS,
ZMXO=135" and AR =40" then
value of ZXMY will be-

et
=

—hs *
Iy : }J"' | HE
; w QQED -L‘||'35- - ""___ ,

e B
By 4s° L2 TS g
Mo 140°

20

Mit}/' 85°
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A T S e

55:

fdafe OT LFPR, ZTOR=40"
A4l SPR=30". 79 v 9T v HIAA

Qi1 40"

4 x=50", y=80"
(8] x=B0". y=50"
& x=30°, y=60"
D) x=60", y=30

wE Y T FAAT 1:2:3 % ST A R
41 FHH A g R a8 B Al
ferd grfi-

(a) 1L, 2HL S 3L

(8) 1%, 4. 36

(© 2., 4% ¥ e T

(o) 2., 4 3R 9 .

b I -r"+—]:=33 Gl f—i. Eal g
X X
-

(a) 729
(B} 736
€ 709

(D) =wiEa § 9w

53, inthe figureif OT L PR, ZTOR =40
and /SPR=30". Then the value of x
and ¥ will be-

i

=
a ij"_;l

V(A1/.r=5|]“. y=80°

B x=RO° y=50°
(C) x=30", y:ﬁﬂﬂ
D} x=60°, y=30

54, The dimensions of a cuboid are in the ratio
of 1:2:3 and its total surface area is 88 m?
then the dimensions will be

LS

= [-
(A) 1m, 2m, and 3 m o
B} 1m, 4m and 6m ; '
‘ } ¥ " r"l-‘#'"""' i e

(C) Em, 4 m and 6m

V]r..ﬂ/ 2m, 4m and 9m =
2frds e ) il

- T
g [n=d] = :_.- R

£ g

1
55. Ifx" +—=283thenthevalue of X ——
X x

L 1

will be- b=
—fw Fmn
AT 728
(B) 756
(C) 709

(D) None of these

21
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Sb.

57,

120 &, F@ T w1 S 84 WL B
Ife 7% U @ & UEH F) wEaE w1
H 500 W@l A ¥ W TH T S
yieaT Hi. @i 81 9 HHae! 4 F A
it

(A)  E99 1584
(B) TYH 7920
(C) ¥4 3500

(o) TTEE H A =

AT 4 4 =10 W xF WA
E"|-.|-|-|-_
L.

ah

0
S

S
933

(D) S0 o & =S T

% x=acosd AN y=bsind @
(65" + a*y?) w1 -

(A) x'+y

(B) &' +5

@ a'%

(0) ab

e ,h': '
?
56. The diameter of 120 cm. long roller is .
84 cm. If it takes 500 revolutions to level M
a playground, find the cost of levellingit ¥
at the rate of Rs. 5 per sguare metre-

s 'ﬂ'-
(A) Rs. 1584 : & v P
(B) Rs. 7920 =i sl X
.p.}_?..." ""I"'\-l.'ﬂ'l L.w
None of these o e C o
~ ] : 4 1‘_,,‘::15 : el
= L * “L:I!.-_"'I-.J
:I:'":'{Eé_. ==Y o
.’;ﬁﬁf;& '

57, Inequation 4™ + 4" =10, the value of
x will be-

@ LT
. .
| e
11
2"
(D) Mone of these

€}

58. If v =gecos@ and y=bsind then the
value of {b’x“ + a’y: } will be-
(A) x4y’
B) & +&
€ &%
b_,l:ﬂr--ab
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9.

&0.

Sy
__‘_;

i J—
(A 43em’
B)  243em’
) 36ewm’
B} 8y3ent’
fta vt & WA S fe FfetEa
# 7 #9 W T T -

(A) 2 AT =FEETH + 2 A
() FEETE = A LR
€y 3wl - SEe + 2 W
(D) IwiEm H & =

59. Inthe following figure each quadrilateral
is a square. The value of surface area of
following figure will be-

(A)

(<)
(D)

4/3cm’

36em”
8 3ent’

G60. Which of the following statement is true

for the values of central tendency-

(4)
(B)

2 median = mode + 2 mean

mode = mean - median

ch}’f 3 median = mode + 2 mean

(D)

none of the above
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61.

" 62,

63

i A % W g 9 fome wifay sk
it faes I -

WA B
a) FEMEEW (1) Na,SO,10H0
b) TemEH TEW () KNO,
c) WHE W () MgSo,

d) TR (Iv) ZnSO,

(a)  (b) (c) (d)
(A) m | v I
(B) i ] WY I
(C) v 1] I I
(D) | I 0 v
=1 %1 v § sufn Sfrwam wene
1 Wl 6 -
(A) T
(B)  EHEHf
c) v
(D) FEEEEA
ey AT W g | e wifem -

T A ™ B

a) oot e (1) TR
b) e s () =t T
¢) WIS W () BE
d) B s (v) 3|
{a) (b (c) (d)

(&) I i i v
(B) 1 I v I
(€) 1] 1] | v
(D) v i 1] [

61. Match Column A with Column B and
Choose the correct option-
Column A Column B
a)] Epsom salt (i Na5S0,.10H0
b) Glauber'sSait () KNO, (s
¢) White Vitriol  (lll) MgSO,
d) Nitre (V) ZnSO, ()
@ ®F

c,{#,i i | W i

«1B) I ] v I
(C) v i 1] |
(D) I I 1 1"

B62. The nature of calcium phosphate present
in tooth enamel is-
(4) Basic
-A8) Amphoteric
(C) Acidic
(D} MNeutral

63. Match Column A with Column 8-
Column A Column B
idh— (I) Tomatoes
b) Malic Acid - (I} Rancid Butter
¢} OxalicAcid _\ () Apple
d) StearicAcid -—{IV) Fats
_~a) (b) (c) id)

ul_[p.J o i Bl v

(8] 1] | v I
*{C) I n | v
(D) v 1] h I
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¢4, fasgs % ss0 7w § @fe am &
110 ww Iufiem & oo = 5=

ﬁ'lﬂ' =

(A) 50 % (50 WiayM)
() 40 % (40 WieT¥F)
(€) 20 % (20 Wiaym)
(D) 10 % (10 witwm)

65. 56 cc CO (H™A HE FAWEEE)

FSHA STP T 2171~
(A) 287

(8) 0.04TM

(c} 0.07 ™

(0) 0.05 7™

66.  WEETSH % A ST ( WY WifeEH, W
TgfEm vE W eEfeg ) &4 v
-

W) T

B) TEfiE

() wHEfaE UE FEuiE
(D) T E HE

5

64. Iif 110 g of a salt is present in 550 g of

solution then the concentration of

solution will be-

(A) 50 % (50 Percent)
W
(B) 40 % (40 Percent) e ALY
&

: (€] 20% (20 Percent)

(D) 1D % (10 Percent)

65. Mass of 56 cc of CO (Carbon mono oxide)

at S5TP will be-

el

(B) 0.04g
(C) 0.07¢g

(0) 0.05g

B6. Hydrogen contains three types of atoms

(,H' Protium, H? deuterium and H?
tritium) these atoms are-

W;;MPE

(8) Isobaric
(C) Isotopic & Isobaric

(D) none of the above
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67.

£69.

ey (He) §  9.033 = 10 THM]

s Wie & A E-
(A} 1HE

(8) s¥®A

(C) 10 H&

(D) 15 HiE

¢ Hra WUPAC TEf T TR
frn waw w1 i #-

H
|
o=

=
X —n=—I

C/H
\\ H

()
(B)
(C)
(D) UFEEES

ot e A, B, C, D a1 € Form woam
w2, 3, 7,10 31 18 ¥, TR wEn
# # -3 4 7= woW aEd 1 g-

(&) ABC
(8f BCD
i<y ADE
(D) B, 0,E

67. Mumber of moles presentin 9,033 X 10*
atoms of Helium are-

{A) 1 mole g
(8) 5mol 8830
BT 7
L - wdy
{C) 10 mole e -
g

768, According to IUPAC system which type
of compound is shown by the given

structure-
H H H
I
H- € -C =2¢C
I
H \ H
{A] Ketone L I'.J'!'{-;—CH'I- CH,
(B) Alkene
. (€] Alkyne
(D) Aldehyde

69. Five elementsA, B, C, Dand E have atomic
numbers 2, 3, 7, 10 and 18 respectively.

The elements which belong to the same
period of the periodic table are-

(A) A,B,C
_{BY"B,C,D
C) A.D,E
(D) B,D,E

6
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e e —

.

70.

.

§2.

t=9  weEdied & ®1 Aew

2it-
(A}
(B)
()
(]

12

17

16

7y B Him =1 ggFno e fafy oo
A §-

(Al
(B)
()
()

Thee= 510
#AHEA B
AUF = g

CILe SR

Hiftrl %1 FF W THE 99 F_eE &
w9 8w -

(A) CH,COOH, CH.CH,OH, CH,, CHCl,

(B) CH,CH,OH, CHCI, , CH,, CH,COOH

(C) CH,, CH, CH,OH, CHCI,, CH,COOH

(D) CH,,CHCL,, CH,CH,OH, CH,COOH

27

70. The number of covalent bonds present in

pentane are-

& s e SO0 Y

. pt Cf Ot CF O Comp #
(B) 12 i P
€ 17

C/"BF flE

71. Which method is used to separate cream
from milk-

() Crystallization
[B) Distillation

L/IC}/CEntrTfugaﬂnn

(D) Vapourisation

72. Which group of compounds shows comrect
Increasing order of boiling points-

(A} CH,COOH, CH.CH,OH, CH,, CHCI,
(B) CH,CH,OH,CHCL, CH,, CH COOH

(C) CH,, CH, CH,OH, CHCI,, CH,COOH

ng/cﬂ..cﬂcaa, CH,CH,OH, CH,COOH
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73.

74.

75

15 9 H, 8 1ofa: o s 9@
T B I o SEYaE geaEH
3

(A} 140H
(8] 115WW
(€ 107.57M
(o) 1207

HE FIUF TS WA e 8,

T4 & 1 W H FufeeE 9 e
1w Bl (EF T T FEEE =
197u)-

(A) 2.6 x 10M

(Bl 2.6x10%

i) 3.0x 10"

D) 4.5 x 10"

FUEY U WO E, W OSrEm -
(A) U s w5 TEE A A

() Ut s R
(cy e = et @
(o) it = AE A

73. What is the mass of the oxygen required
toreact completely with 15g of H, gas to

form water-

(A 140g. G
B) 115¢. |
(C) 1075g 7

(Df 120§

L
L

74. Percentage purity of a sample of gold is
85%. How many atoms of gold are present
in 1 g sample (Atomic mass of Gold =
197u)-

(A) 2.6 x 107 o
- '||_-.t'
-"_-i- o L8
A xR O TR
M ok
. |
@ 3.0x 107 983 =
~ B5.
'ﬂ i
{Dl 4.5 x 10 b .{-ﬂl :il_-l"
--Il-' gt ;

75. Tendon is a structure which connects-
(A} Oneboneto another bone
(B)" Muscle to bone
(C) MNeuronto Muscle

(D) Muscle to muscle

X SAT 2019




76

et -

() Wi

(B) TR

(€ i

(D) - uHEEEA

ity e = FErm s 1 3 feos
FIEhaH T4 FEMHZHE * SR w6l
?_

{a) hfcerm i difsmm
(B) ey s it
(€} i i Oifesam
(o)  Orferm ain 9efiem

VITA = TS edT S S Sl e
%
(o) Taesen g
(B) T SfafiEwa
() TE fea
(D) FEG TAEE
29

76. Platyhelminthesare-
(A] Coelomates
LEWEHMMEhmﬂtu
(C) Homocoelomates

(D) Acoelomates

77, Bonetissue becomes hard due to presence
of phosphate and carbonates of the
following-

_{AY calcium and Sodium
(B} Calcium and Magnesium
{C) Magnesium and Sodium

(D) Magnesium and Potassium

18, What is Zoological name of National Bird
of India-
Fonsnk:
v {A) Psittacula Eupatria
Biyone
*{B) Passer Domesticus
JE’-‘";Paun Cristatus Fe-ee”

.,':D] Corvus Splendens o annen
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79. ofa fasm & frr @ & feR- '®fwsE | 79. Which of the following is known as the

w1 T g5l Fl = - ‘energy currency of cells' in Biology-
(a) = (A} DTP
() =T (B} PDP
€ uatd ) aTP
(o) EEL & (o) ©OT
g0. Fre1d AT W wmT WA TETARE | 80. Which of the following plant hormone ¢

=t T - ! inhibits plant growth-
(a) ufdfas s (A) Abscisic acid
(B) TUERfa® a7 _8) Ascorbic acid
(€ T (C) Ethene
(D) ARSEEATH (D) Cytokinins
81,  HIE qeA O H1 §HE £ | 81. Excretory unit of the human excretory
(A) ety system is-
@) it {A) Nephron
© = (B) Nephridia
) e fie=t {C) Neuron
' 4 j‘,DifUreter
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82.

Y | F w1 w Toem sifee T

wet fames w1 wue Wit
R | =
1) ommd & vl (@) W F I
i) wgem afefl (b)) SfEdEEE =
LEIEED
W) T T R (e) wREl B @
viEE
IV ) e (d) Il |
RIEC LT
1) {1} (1) (V)
(4) a b c » d
(B} d € b a
(C) b C d a
(D) d c a b

=1 fag 4 mfea A, B 3R C wm
o ¥ -

CIEREL I Tl R L
Wi, srooas 3 et
Wi, Yelidd 8 S
e, WiHT o Ay

{A)
(B)
()

(D)

B2, Match coloumn | with Cloumn Il and

choose the correct option-
Column | Column

1} Arteriesand (@) Clotting of bload

veins -
) Xylem Vesse ) Carrier of Oxygen
my Rec | Water Transport
/ in Plants
IV} Piatelets (/ ) Blood transport
in humans.
o m (V)
(A) a b c d
st 4 b a
(C) b c d a
- (D) d c a b

B3. Inthe given figure parts marked A, B and
Csubsequently are-
&

C

(A] Cotyledon, Plumule and radicle
= (8] ;.PIuMuIﬂ, cotyledon and Radicle
{C) Plumule, Radicle and Cotyledon

D) Radicle, Plumule and Cotyledon

31
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i # S| ] HYeH € E-

() Tl s Wl W B
(B) WE 3 WEel e B
(C)  ifest I BT

(o) wES EA

g FifvE Fefafas § s 5
wrdt &~

(A) i TS HeEd (weeEE)
() TR vRET (ERETEE)
(€)  F: TR (UUEEied)
() forega s (yEEEEEE)
fira | =1 Fmiion 8 -

(a)  Tommme

(8] F=Hd

(€} ST

(D) S

84, Lipid molecule in the cell are synthesized
bry-
y[jﬂ/ﬁdm-ﬂﬂth endoplasmic Reticulum
(B} Rough endoplasmic Reticulum
{C) Golgl Apparatus

(D) Plastid

85. The plant cells become turgid due
to-
W'FFIasmumis
b
(B) Exosmosis

{C) Endosmosis

(D) Electrolysis

86. BileJuice is produced by-
(A) Gall bladder
Jpr"'ﬁw
(C) Pancreas

{D} Stomach

32
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foret wiftes # 9 ware =1 9
-

[A) T~ FTH TR = TTATE =

AR

(B] TR — TR — IR —

HIHIH

(C] YT = HTER = St i

AR

(D) YRR FeqTS o~ HTHTRI -+

AR

A= w0 (MA) SR (L) 79 SEmE

(E) weafes §-

(A MA=LxE

(B) MAxE=L

) MAxL=E

(D) ¥H A wE

A Wy Ay A e A e & g, 6
It T A -

(A) w2 R

() =g W @

(€) =g e e
(D) SviE § & wE T

87. The right path of energy flow in a eco
system is-

)Afﬁﬁumr ~+Herbivorous—+
“ carnivorous -+decompaser

(B] Producer—carnivorous—

herbivorous-+decomposer

(C) Herbivorous—+carnivorous-

producer—+decomposer

(D} Herbivorous—+producer—

carnivorous=+decomposer

88. Mechanical advantage (MA) Load (L) and
effort (E) are related as-

LJA}-'M=L::E
B) MAxE=L
(€] MAxL=E

(D} None of these

89. When light enters from air to glass its
wave length-

W Decreases
(B) Increases
(C) Remainsthe same

(D) None of these
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90. ferwit forgm amrael wivi <l wfenfaes
% iR AR -
(A) YRR

() TR it =t Aim wH W owEa
&l

o fat =t 3in 9 W oEE
¥

it fagall o wEE B T

(€)

(D)

frrefafan | =i it 8-

it > Mften > M
e = e > Adren
e > e > Mg
1 > e > Mt

1.
(4)
(8]
(€}
(D}

92.  UF TirE vdm A v ey 7 g

IO AEYT 0.8 T
(&) =y e S S T T
(8) =Y @ oW S Sane £

0w aEAe, & AfET o8 e
1

adn Iwe & #fR wn aEae
A

()

(D)

90. The magnetic field inside a long straight
current carrying solenoid-

(&) iszero

(B) decreases as we move towards its

end

[C) Increases as we move towards its
end

> By " is same at all points,
91. Which of the following is correct-
FA) *blue > “yellow > *green
ij,ﬂir"'ﬁ;eltcrw > green > “blue
(€} *vellow > *blue >*green
(D) *green>"blue>"yellow

=

mose s Ll ~""I

© 92, The magnification produced by a spherical

mirror and a spherical lens is +0.8 -

(A)
(B)

The mirror and lens bath are convex.

The mirror and lens both are

concave.

(€)

The mirror is concave but the lens is
convex

i The mirror is convex but the lens Is

conCave.
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93.

21 fae wew A A 8 fod oqAars
FHTI: 100 W, 120 V 791 10 W, 120V T,
120 V & #Egn 09 & Wy Sy |
e ¥ 9 =9 W de" F9 G0
S Fm-

(2) A
B) 8
() EFi =EA

(D) S FE T A g

m[#=;]ﬁﬁuﬂﬁﬁﬂm‘r

3 w9 8 2= fomm 2.0 fm
F 33 B Wi g & 1 Foeen w1 wm
4 g Eii-

(A] B.00 mm
(8) 600 mm
(C) B.00cm
(D) 6.00cm

35

93. Two bulbs A and B are rated 100 W,
120V and 10 W, 120V respectively. They
are connected across a 120 V source in
series, Which bulb will consume more
poOWer-

Vm’ A
(8) B
(C) bothequally

(D) Nothing can be said

4 :
94, Acoin keptinside water {F = E] when

viewed from air in a vertical direction,
appears to be rasised by 2.0 mm. The
depth of the coin in water Is-

AN “8.00 mm i r»f' """-'.;‘I'

(B) 6.00 mm
(C) &.00cm ,K,;i—i :1{
(D) 6.00cm hjl

Hﬁ%’t
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95.

fofafas 4 @ 94 w97 DigHt a6l
g g
i S wftey § e S o

o HieeHiEt gE H8 H 9
g ¥

i R AT S Wi 3= E

jii. U deedizs w8 Wiy =7 e
Tl

(&) i, TG

(8) il

(€ i FE

(D) waE i

21 Tar wfe = e S e O
T e 8 dhfea §, = v s e
H T T R FH R W A E
1w = wefylh o §-

Wk B

_—
(A} A
B) B
(C A 79 BEH
(o) IulE f A wE 79

95, Select the correct statement in the

following and choose the correct option-

i)

i)

An Ammeter is connected in seriesina
circuit and a Voltmeteris connected in

parallel,

An Ammeter has a high resistance.

iii} A Voltmeter has a low resistance.

(A) i, ii and iii

(B) iandii

(C) iiand iii

o

(/{D}“Iuni'f i

96. V-1 graph for parallel and series

combinations for two identical resistors

are as shown in figureWhich graph

represents parallel combination-

WA B

(A) A

(BB

36

{C) AandB both
(D) MNone ofthe above
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97, U ol He uT il YEn # W @ 20 97. The velocity time graph of a ball of mass

T BETA i w1 an-aea e s 20 g moving along a straight lineon along

T fem ¥ ) g = fammmenm § w6 table is given in figure The force exerted

+ fem B9 g = =% 2- by the table on the ball to bring itto rest
ig=

4 - ]
M) —4x107 N L}k’/ —4x10* N = 42

B) g&xI0f N (B) 8xl10° N e
A
€} —2x10*N (€} —2x10'N et
T"'-:
D) 6x10" N () 6x10"N ﬁgfﬁ

98. 600 N %R & AR %1 fRar o= 2 98. How fast should aman weighing 600N run

aifen T FomRT faw ==t 750 J ® to achieve a kinetic energy of 750 J
{g=10m/s* )- (g = 10 m/s%)-
(a) 5 TR/ HFTE \_/{A-)/émfg f"j - Mf
B) 7 WX/ v (8) 7mfs e gard it
[©) 10WR=Y fEve i) 10m/fs " = .
R —,E'.:'.'
(0) 7.5 Wi/ WEUE (0), TSN S S0 e
ool
=

L]
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100-

fa= 4§ %1 W o R w0 o
afes el (), Feufira i (U) A
o (h) T T vt
Fm -

(A) k
Eo
=
E
7
@) i
st
i
@ F K
b
‘I‘ E
o F i
=

UF Sgfad # WF9 WA 20 w=E 9
20 foreit w2 71 27 <t sgfedt & fom
a1g § wf @ &t fafeme i d
% arg 4 vl w1 9w = 344 HifHo) -

(A)
(8 17.2m,17.2 mm

1.72 m, 1.72 mm

(€ 172 m, 172 mm

(D) TTEEH A EE T

99. 'Which of the following graphs shows
correct relation of kinetic energy (E)
potential Energy (U) and height {h) from

the ground of a particle-
s

E
(A) &

Height

B

Ena

— E

1
© E])Z
ul.

Height

100. A person has a hearing range from
20 Hz to 20 KHz. The typical wavelengths
of sound waves in air corresponding to
these two frequencies are (speed of

sound in air = 344 m/fs)-
Al 1.72 m, 1.72 mm
(B) 17.2m, 17.2 mm
(C) 17.2m, 1.72mm

~[B] None of these

38
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